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1. Read this. Look at the bold words, put them in the correct boxes on the pictureWallace and Gromit are window cleaners.
Wallace is on the motorbike, and Gromit's in the sidecar. There's a ladder on the sidecar.
They're both wearing helmets. Gromit has a pair of goggles on his helmet. Wallace is wearing blue overalls and boots.The bucket and sponge are in the sidecar.
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 You can't see them.
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A bowl of porridge. Match words from
column A and column B.
e.g.
a bowl of porridge
	Column A
	Column В

	a bowl         of
	tea

	a pair
	water

	a cup
	slippers

	a ball
	wool

	a bucket
	porridge




Underline the words you don't know in the text. Can you guess the meaning?

Wallace is on the phone. The owner of the wool shop in the High Street has just called him because she wants him to clean her windows. Wallace is sitting in his armchair. Wallace's feet are on the sheep, but Wallace hasn't seen the sheep. He thinks his feet are on the pouffe. He isn't wearing socks or slippers .  The sheep is eating the stuffing from the pouffe. The stuffing is straw. The sheep has already eaten Wallace's newspaper. There's a hole in it.
